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QUESTION 1

A client wants to integrate a source control system to manage and maintain the cloud templates for their new installation
of vRealize Automation.

Which solution should be included as part of the vRealize Automation logical design?
A. Git

B. Subversion

C. vRealize SaltStack Config

D. Gerrit

Correct Answer: A

QUESTION 2

A customer requests a conceptual design for the Cloud Management solution.
What three selections represent a conceptual design? (Choose three.)

A. Cloud Automation

B. Identity Management

C. vRealize Automation

D. Workspace One Access

E. Monitoring and Logging

F. vRealize Log Insight

Correct Answer:. ABE

QUESTION 3

An organization has onboarded a new business unit whose role is to test the applications 5 days prior to the release
date. The Service Broker administrator should allow a 2-day extension for these deployments before they are deleted
permanently.

Which two options must be configured in the lease policy to meet the requirements? (Choose two.)

A. A maximum lease of 5 days

B. A maximum lease of 7 days

C. A total maximum lease of 7 days
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D. A total maximum lease of 5 days
E. A grace period of 5 days

Correct Answer: BC

QUESTION 4

A healthcare company has mandated that all I[P and DNS entries be allocated from an existing third-party IPAM solution.
Also, for auditing purposes, all systems must handle user authentication via the existing open source LDAP directory.

When considering a logical design for this scenario, which is true about the dependency relationships of these
systems?

A. The IPAM system is an upstream dependency and the LDAP system is a downstream dependency of vRealize
Automation.

B. Both the IPAM and LDAP systems are external, upstream dependencies of vRealize Automation.
C. Both the IPAM and LDAP systems are external, downstream dependencies of vRealize Automation.

D. The LDAP system is an upstream dependency and the IPAM system is a downstream dependency of vRealize
Automation.

Correct Answer: C

QUESTION 5

An architect is designing a private cloud solution for an organization and has been given the following
information:

The organization already has a VMware Workspace ONE Access 3.3.2 cluster with external MSSQL
server for their existing virtualized desktop environment.

Due to budget constraints, wherever possible, the architect needs to reuse the existing environment.
What should the architect recommend as an authentication solution for the private cloud?

Note: VMware Identity Manager has been renamed as VMware Workspace ONE Access.

A. The existing instance can be reused as authentication provider for the private cloud but maintained outside of
vRealize Lifecycle Manager.

B. Import the existing Workspace ONE Access cluster in vRealize Suite Lifecycle Manager but do not reuse it for the
authentication purposes.

C. Deploy a new instance of Workspace ONE Access cluster using vRealize Suite Lifecycle Manager and use it for
authentication.

D. Import the existing Workspace ONE Access cluster in vRealize Suite Lifecycle Manager and reuse it for the
authentication purposes.
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Correct Answer: B
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